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SECTION - A

I. Very Short Answer Type Questions.

S () Answer ALL questions.
question carries "TWO marks.

} — R is defined by f(x) = x>

(ii) Each
1_‘ Iff: R {0

f(x)+f(i‘) =0 ' |
' | 1

e real valued function f (x) = Ge-D & —)

, then show that

o F.Hld the domain of th

3. It (X_ 3 Zy-— ) (__g E ), then firéd the value of

x, y, z and a. |
1. If w is complex (non-real) cube root of 1, then show that -
1 w o |
- w® 1 ]=N
w®.. 1 0 | - .
and b = he umt vector in

Leta f+2f+31?andb 31+] Fmdt

the duecﬂon of a + b.

B
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(ii) Each question carries SEVEN marks.

18. If A ={1,2,3} B = {o, B>V} €=
g: B_—;-Caredeﬁnedbyf__{(l ), (2,7), 3 Kiﬂ g = \(a,

)} then show that £ and g are b13e,ct,1ve functlons

(p-> Q» r} andf A —

19. Usmg ma | _
1 \ n . 4 .
A SR N R TR nterms — \d neN.

1.4 * 37 T 730 i u_pto | 3ntl. to.

20. Show that.

1 a% . ad
S /1 b2 b
‘IJ_;}- 1 C2. C3 . . | . | g I
21. Solvex +y+z= 1, _2x_'_-_|— 2y + 3z = 6. % + A4y +9z2=

= (a_ — ‘_b') (b —'--c) (c —"a) (ab *+~\bci-\-

‘ matﬁx inve‘rsion*method
Ifa: 2i+j-3kb= i-2i+k <= ;—“i+'i-

= i + j+ k, then compute \(_ % b) (C

It A, 'B C are the angles of a trlangle, pt_ove tha
sin2A + sin2B + sin2C = 4 sinA sinB sinC

Ifr1-2 rz—3 1‘3—6andr—1 ptovethat



SECTION - C

Long Answer Type Questions. _ - .

1)
(11)
18.

19.

20.

AN

22.

23.

24.

Answer ANY FIVE questions.
Each question carries SEVEN marks.

IfA={1,2,3},B={x, 6,7} C={p, qr}ax
g : B —> C are defined by f = 1, 00, @2.v), G, 5
(B, D), (v, p)}, then show that f and g are biject

(goD* =f"'og™
Using mathematical induction, show that
1 1 1 ) n -
— 1+ — — co- n terms = N
1.4 4.7 7.10 » upto 3n+1l
Show that
1 a2 g3

1 b= b3\ — (a-j-b) (b — ¢) (c—_a)

1- C2 C3 1

Solvex +y+z=1,2x+2y+32=6,% -

matrix inversion method.
Ifa=2i+7-3kb=1-2]+ k.
d =

A

1 4+ + k, then compute \(a X\
If A, B, C are the angles of a triangle
Sin2A + sin2B + sin2C = 4 sinA sin

frn=2,n=3,n=6andr =1,

v ¥
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I Very Short Answer Type Questions.

/@) Answer ALL questions.
question carries’ TWO marks.

(ii) Each
1.. Iff: R {0

foo+£(3) =0 _
of the'real valued function f ) = m

} —R is defined by f(x) = x* - ;15 , then show that

2. Find the domain
x—3 2y—8)_ 5 2 - tue of
2 “s )_ (_2 3_4), then fn?d the'vaue
x, y, z and a.

3. If

(. If @ is complex (non-real) cube root of 1, then show that -

1 o o

o o2 1 =0
w? 1 ) ;

f+2f+3ﬁ-and5= vector in

Letd = 3{+j. Find the unit
the direction of a + b. ' :
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